| Efficiency vs Dxy |
> 0.2
<

3 - 5 5 5 5 5 5
0 0.18 5 P P P R
< : : : : : : :
L
k) - 5 5 : : : :
2 0.14p e P A L A
© C : : : : : : :
0.12[ i e S H B o
N

C [
Illlpl T 1

510 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPE_step2_tthar-phasel-newgeom

—— DQM_pixelCPEANdChi2_step2_ttbar-phasel-newgeom

N 0.1
o r : : : : :
L 0.09F f- e S S 3 O A
by - |
.5 0.08:— ------------------------------------------------------------
3} c L
2 0.07E i foredo bl
o C
] O s S | I
oo5§' ..............
oo4§ ..............
003? ______________
ooz? e
00ﬁ~ ..............
9 J"L'OEI : 1 L1 1 1
© - :
o 11 A L B ARy S SLETETTRRTIRE
0.95F - e A R
0.9E 5 il i
=30 -20 -10 10 20 30

TP dz (cm)



	Contents
	Page 1


